RECEIVED JUN 1 6 2010

DATE: June 16, 2010

TO: Cape Elizabeth School Board

FROM: Mary Bruns

. • 1

RE: Recommendation – Members of Certification Committee

Name	Activity	School	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Positio n? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Mary Dulac	Pond Cove Representative	PC	NA	NA	\$2300	School Board	No	No	
Kathleen Walsh	Middle School Representative	MS	NA	NA	\$2300	School Board	No	No	· ·
Charlotte Hanna	High School Representative	HS	NA	NA	\$2300	School Board	No	No	
Mark Ashe	At-Large Representative	HS	NA	NA	\$2300	School Board	No	No	
- 									
							<u> </u>		

DATE: August 23, 2010

TO: Cape Elizabeth School Board

FROM: Gary Lanoie

RE: Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Wendy Derzawiec	Webmaster				\$1,750	School	N	N	

DATE: June 11, 2010

TO: Cape Elizabeth School Board

FROM: Steve Connolly

RE: Recommendation for Extra Curricular Position(s)

Activity	Name	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Chorus 5-6	Becky Bean		85	\$14.00	\$1190	school	n	n	
Chorus 7-8	Becky Bean		25	\$14.00	\$350	School	n	n	
Drama Director	Steve Price		225	\$14.00	\$3150	school	n	n	
Assistant Director	tba		150		\$2100		n	у	tbd
Instr Music 5-8	Caitlin Ramsey		100	\$14.00	\$1400	school	n	У	
Math Team 5-6	Allison Caruso		50	\$14.00	\$700	school	n	n	
Math Team 7-8	Brian Freccero		50	\$14.00	\$700	school	n	n	
Speech	Alison Hawkes		75	\$14.00	\$1050	school	n	у	see attached
Debate	Carrie Newton		75	\$14.00	\$1050	school	n	у	see attached
Student Council	Carrie Newton Tabitha Eastman		100 100	\$14.00 \$14.00	\$1400 \$1400	school	n n	n y	see attached
Variety Show	Steve Price		35	\$14.00	\$490	school	n	n	

Activity	Name	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Yearbook	Siobhan Brown Melissa Sullivan		40 40	\$14.00	\$560 \$560	school school	n n	y n	see attached
team leader - g 5	Matt Whaley		10		\$2800	school	n	n	
team leader - g 6	Charlie Carroll				\$2800	school	n	n	
team leader - g7	Deb Casey				\$2800	school	n	n	
team leader - g 8	Jamie Michaud				\$2800	school	n	n	
team leader - AA	Marguerite Lawler- Rohner				\$1800	school	n	n	
team leader - WL	Lisa Leonard				\$2800	school	n	n	
team leader - ISS	Cheryl Joys				\$2800	school	n	n	
SST - coordinator	Kim Sturgeon Gretchen McCloy				\$1400 \$1400	school	n	n	
SST - ISS	Cheryl Joys				\$1350	school	n	n	
SST - EFS	Laura Ellis				\$1350	school	n	у	see attached

CEMS 2010-2011 New Extra-Curricular Positions

Speech and Debate

The Speech and Debate teams are looking for new coaches this year, as Elizabeth Johnston has stepped down due to an impending maternity leave. Alison Hawkes and Carrie Newton have volunteered their services to continue this quality program. Both staff members are veteran language arts teachers with backgrounds in public speaking coaching.

Student Council

Chris Drake has been a co-advisor for the Student Council for the past two years. Chris' educational technician position was reassigned to CEHS last fall, which made Chris less available to students during the school day. Tabitha Eastman, a third year eighth grade teacher, has volunteered to assist Carrie Newton with Student Council.

Yearbook

Tabitha Eastman co-advised Yearbook with Melissa Sullivan this past year. Tabitha will no longer be doing this, but Siobhan Brown, an educational technician at CEMS, has volunteered to step in. Siobhan works in the same area as Melissa, so they will have ample contact. Siobhan is very organized and has great people skills. She will be a nice addition to Yearbook.

SST - EFS

Laura has been hired as a half-time Executive Functioning teacher who will be working in the Response to Intervention room. All of her students will have Student Learning Plans and will be part of the Student Study Team caseload, therefore, Laura needs to participate on SST.

RECEIVED JUL 28 2010

DATE: 7/28/2010

TO: Cape Elizabeth School Board

FROM: Tom Eismeier

RE: Recommendation for Pond Cove Co Curricular Positions

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)	*If yes, provide a brief description of qualifications below or on a separate sheet.
Linda Paul	K Team Leader				2800.		N	N	
Julie Nickerson	Gr. 1 Team Leader				2800.		N	N	
Linda Siegmund	Gr. 2 Team Leader				2800.		N	N	
Janet Amberger	Grade 3 Team Leader				2800.		N	N	
Susan Michaud	Grade 4 Team Leader				2800.		N	N	
Angela Moore	IS Team Leader				2800.		N	N	
Judy Ferrante	Allied Arts Team Leader				2800.		N	N	
Karen Abbott	Student Support Team	2			1350.		N	N	
Cameron Rosenblum	Student Support Team				1350.		N	N	
Angela Moore	Student Support Team				1350.		N	N	
Debbie Butterworth	Student Support Team				1350.		N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y) *	*If yes, provide a brief description of qualifications below or on a separate sheet.
Becky Swift	Student Support Team	"			1350		N	N	
Deb Jordan-				Weither					
Pearson	Student Support Team	"			1350		N	N	
Suzanne Hamilton	Student Support Teem	"			4350	Instructi onal support			
Suzunne Hamilton	Student Support Team				1350	funds	<u>N</u>	N	

.

RECEIVED AUG 0 5 2010

DATE: August 5, 2010

- TO: Cape Elizabeth School Board
- **FROM:** Jeff Shedd, CEHS Principal
- **RE:** Staff Recommendations for 2010-11 Extra Curricular Positions

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
	STP Coordinator								Dwight has been the overall STP coordinator in the past. He is well qualified and
Dwight Ely	1/2				1,400	School	N	Y	experience.
Ted Jordan	STP Coordinator				1,400	School	N	N	
Joel Shroder	English Dep't Chair				2,800	School	N	N	
Tony Ghidoni	Math Dep't Chair				1,400	School	N	N	
Charlotte Hanna	Math Dep't Chair				1,400	School	N	N	
Belinda Snell	Guidance Dep't Chair				2,300	School	N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position?	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
	Research								
Joyce Bell	Coordinator				2,800	School	N	N	
Gretchen McNulty	Social Studies	-			2,550	School	N	N	
	9 th Grade Class			· · ·					
	Advisor		50	14.00	700.	School	N		
	Sophomore Class								
Mary Page	Advisor		50	14.00	700.	School	N	N	
,	Junior Class				· ·				
	Advisor		100	14.00	1,400	School	N	N	
	Senior Class							ĺ	
Joan Moriarty	Advisor		100	14.00	1,400	School	N	N	
	Science Dep't Chair				2,800	School	N	N	
	Foreign Language								
Ali Gwyther	Dep't Chair				2,550	School	N	N	
	Health/PE Dep't								
Scott Shea	Chair				2,550	School	N	N	
	Art Dep't Chair				1,775	School	N	N	
	Art Dep't Chair				1,775	Jenoor			
	1/2				1,775	School	N	N	
	Natural Helpers								
Andrea Cayer	1/2			14.00	1,500	School	N	N	
	Natural Helpers								
Rob Thompson	1/2			14.00	1,500	School	N	N	
						Student Activities			
Ginger Raspiller	NHS				1250	Funds	N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Dick Mullen	Speech		408	14.00	5,712	School	N	N	
Dick Mullen	Theater Fall		290	14.00	4,060	School	N	N	
Dick Mullen	Theater Spring		290	14.00	4,060	School	N	N	
Dick Mullen	Theater Class Productions		72	14.00	1,000	School	N	N	
Dick Mullen	Theater Manager		75	14.00	1,050	School	N	N	
Deb Richio	Theater Assistant		150	14.00	2,100	School	N	N	
Larry Allen	Music Director for Musical		150	14.00	2,100	School			
Peter Bloom	Theater Technical Director		135	14.00	1,890	School	N	N	
Gretchen McNulty	World Affairs Council/Model UN		215	14.00	3,000	Extracurricu lar Dues and Fees account	N	N	
Chris Hayward/ Chris Newell	Math Team		220	14.00	3,080 CH- CN-	School	N	N	
Shawn Guerrette	SAC 1/2		20	14.00	280	School	N	N	
Brandy Lapointe	SAC 1/2		20	14.00	280	School	N	N	
Tom Lizotte	Jazz Band 1		325	14.00	4,550	School	N	N	
Tom Lizotte	Jazz Band 2		220	14.00	3,080	School	N	N	
Tom Lizotte	Jazz Band 3		70	14.00	980.	School	N	N	

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
	Jazz Combo 1 & 2	-	275	14.00	3,850	School	N	N	
Mary Page	Mock Trial		180	14.00	2,520	School	N	N	
	Art Club (sem. 1 and 2)		84	14.00	1,176	School	N	N	
	SST				1,350	School	N	N	
	SST				1,250	School	N	N	
	SST				1,250	School	N	N	
	SST				1,250	School	N	N	
	SST				1,250	School	N	N	
Rob Thompson	Dep't Head, Special Education				2,800	School	N	Y	
Shawn Guerrette	Science Olympiad		80	14.00	1,120	School	N	N	
	Robotics		40	14.00	560.	School	N		<u></u>
	Faculty Consultant(s) for Student Govt		160	14.00	2,250	School			
Lisa Melanson	Speech Team Asst		72	14.00	1,000	School			

DATE: August 16, 2010

TO: Cape Elizabeth School Board

FROM: Jeff Shedd

RE: Recommendation for Extra Curricular Position(s)

Name	Activity	Coaching Level	# of Hours	Rate	Total Stipend	Funding (ie, School/ Booster, etc)	New Position? (N/Y)	New hire? (N/Y)*	*If yes, provide a brief description of qualifications below or on a separate sheet.
Michael Efron/Doug Worthley	Department Chair, Science; 50/50 split				\$2,800	School	N	N	Both of these teachers have been department chairs in the past. They are well qualified to replace Kerry Kertes, who has served as department chair for the past two years.